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7, 14 x 60% = 8,2 x10% =
3,96 x 90% = 3,02 x 10% =
1,55 %x90% = 1,06 x 70% =
1, 1T x 50% = 4,46 x 10% =
9,2 x70% = 4,75 x20% =
7,98 x 50% = 7,63 x 80% =
6,76 < 70% = 0, 11 x 20% =
2,43 x 70% = 4 % 50% =
7,9 x30% = 7, 11 x 40% =
0, 67 x 70% = 9,56 x 40% =
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7,14 x 60% = 4.284
3,96 x 90% = 3.564
1,55 %x90% = 1.395
1, 1T x 50% = 0.555
9,2x70% = 6.44
7,98 x 50% = 3.99
6,76 x 70% = 4.732
2,43 x770% = 1.701

7,9 x30% = 2.37

0,67 x70% = 0.469

8,2 x10% =0.82

3,02 x 10% = 0.302

1,06 x 70% = 0.742

4,46 x 10% = 0.446

4,75 x20% = 0.95

7,63 x 80% = 6.104

0, 11 x 20% = 0.022

4 x50% = 2

7,11 x 40% = 2.844

9,56 x 40% = 3.824

www.snowmath.com



https://www.snowmath.com

